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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
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TRafa wEr 82
When a compressed slinky is released it converts potential energy into:

Question ID : 9864493582
Status : Answered
Chosen Option : 4

Ans x1_3wii’lzrﬁ|‘r

Heat energy
, AT Feir
Mechanical energy

, TaAfA® S
Chemical energy

| Tt S
Kinetic energy

x

x

v
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Among chemical properties, Mendeleev concentrated on the compounds formed by the
glements with: Chosen Option :1

Question ID : 9864493373
Status : Answered

Ans v gIEEIa 3T 3=

Hydrogen and Oxygen

- grEEed i afEas

Hydrogen and Sodium

3_&%&331'!?'5’3@3?

Carbon and Hydrogen

x4_m3ﬂtﬁrﬁaﬂ

Carbon and Sodium

x

Q.3
Question ID : 9864494245

Status : Answered
Chosen Option : 2
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Consider the given statement and decide which of the given assumption(s) is (are)
implieit.

Statement:
The train fares have increased by 25% with immediate effect.

Assumptions:

I.  People still prefer travelling by train despite the increase.
II.  Other modes of commutation may also increase their fares.

Ans x..1_aa—c|?~rmm2 ICIEGEA

Only assumption I is implicit.
|1 3R 2 2=t fafea =@t &
Neither assumption I nor IT is implicit.
§ Fao A=ar 1 @[T g

Only assumption I is implicit.

4_13ﬂ¢2$ﬁﬁ‘%7—r%1

x

v

x
Both assumptions I and IT are implicit.
Q.4 THTE! & T[UTeTe 0. Heldl HEAT 1.6 ¢, FET
o B ISRl Question ID : 9864492561
CoEy
Status : Answered

The produet of two decimals is 0.768. If one of the decimal number is 1.6, find the other.

Ans J’ 1. 0.48 Chosen Option :1
X 2037
<3042
X 4047
Q.5 g wwa & uEwe 0432 s HEar 1.6 @ ar TEAT 4T &7
i i o o e & Question ID : 9864492961
The product of two numbers is 0.432. One of the numbers is 1.6. What is the other
number? Status : Answered
Ans & 1. 27 Chosen Option : 4
~ 2 0.027
X327
W4 027
Q.6 @&sr 10 F T &r <ol T HEAT
i e SR %‘ﬁh T & i = Question ID : 9864494287
T HeeT ¢, 4 Fe 1 gl W Twar &, 96 g5 § Ak 6 e % Status - Answered
Teral g1 e GAY Fw R & 3 #y A ? '
e ki = g 2 Chosen Option : 4

Samarth heading towards north turns right after walking 10m, he turmns right again walks
for 4 mefers and then he turns left and walks 6km. Tn which direction he is walking?

Ans tlﬁﬂ?r
1.
West

X2 Il
North




X3.aﬁm‘

South

v T
East

QT gt FmaT it AT Y @l B A W

The sum of two fractions is Z. One of them is %. What is the other fraction?
Ans x 1 2
W 2
&~ 3
X 4

o BN Ell—l w

10

Question ID : 9864492901
Status : Answered
Chosen Option : 2

Q.8 &t 3l AfhF A 6 15 4T & R o allt A 60 v e et mey

FIET &1 TRE T8 T 2,210 B 797 FaT £, T ST A 37T e &

Veer spends 15% of his monthly income on the house rent and 60% of the rest on
household expenditure. If he saves T 2210, what is his monthly income?

Ans X 1. T 8,000
< 2. T 7,000
X 3 T 7,500
W 4 T 6,500

Question ID : 9864492607
Status : Answered
Chosen Option : 4

Q.9 sy vwElie figer Aivsr o, Rew vudfew JdRwafg & @ wgw st |

e 9EA S R aaet e W § 3aer @ Far 9

Indian athlete Neeraj Chopra created history by becoming the first Indian to get gold ina
world athletics championship. What was his sport?

Ans CEIiC T
X1 i
Long jump

, e ek
Shot put

x 5, T heR
Discus throw

| STl e

Javelin throw

~

v

Question ID : 9864492289
Status : Answered
Chosen Option : 4

Q.10 v wia o TR 6 & 20 TF T 1 25 e % el IF fhew
3T =aem?
A Lawn roller makes 20 revolutions in one hour. The radians it runs through 25 minutes is

Ans 50m
1. —
x 7
x 5 150=
x 3 250m

J450_m

Question ID : 9864492476
Status : Answered
Chosen Option : 4

Q.1

Question ID : 9864494121
Status : Answered




fore swgaT &7

122 + 345 -1 % 1011 =+ 337 = ?
Select the option that can replace the *?* symbol in the following equation.

122+345 -1 x 1011 +337=17

Ans X 1. 446
X 2 644
X 3460
v 4 464

R av Al & ¥ #ia ReaRi@a gdeer F 2 F 9oty W= F

Chosen Option : 4

12 g R & gof, S wew e T g o 8 /

Problem Figures

IR

?

Question ID : 9864493680
Status : Answered
Chosen Option : 3

A B C D
Answer Figures
N[
C @|¢ O[OV & O
1 2 3 4
Choose the correct figure to replace the question mark.
Problem Figures
s0®
VIl ?
A B C D
Answer Figures
SN
C @|® O[OV & O
1 2 3 4
Ans x11
<23
V2
P . |

Q.13 w7 Faw Tras warg SFeas Bl Gw andw due aaw e
5 82

The science fiction book *The Extra-Terrestrial Delivery® is penned by which Indian
author?

Question 1D : 9864492331
Status : Answered
Chosen Option : 4

Ans
7+ garear e
Sudipta Das
> 2. iTHaT e
Namitha Ghokhale




o HAN AT
Anosh Irani

x4 oHa g

Samit Basu

Q.14 frg gftre feew a3 ok affd & 2017 & oo ‘oo 3w g
R qER Sar 32

Which famous film actress and celebrity won the FETA *Person of the Year’ award in
20177

Ans

{1_34?@: AT

Anushka Sharma
| T =i
Priyanka Chopra
, 3nfer g
Alia Bhatt
. &rftreer TgERIoT

Deepika Padukone

x

x

Question ID : 9864492303
Status : Answered

Chosen Option : 4

Q.15 =& wemEr @ o 30T o wue AegA § AT mregs & o s Bar O
B e & g 17

When a ray of light travels from a denser medium to a rarer medivim, it bends:

Ans K..1_34ﬁ:aﬁ£f T T T 9 ST
towards the normal and speeds up
| Fievewm &1 3T T o g S @
towards the normal and slows down
R HIFSFT | gT T ST 9§ S
away from the normal and speeds up
x_4..3-'|ﬁ3|?»|ﬁ' ¥ gT g o g S

away from the normal and slows down

x

Question ID : 9864493224
Status : Answered
Chosen Option : 3

Q16 frar 3t 2016 H 9T & T ca=ags i ar
‘Who was the flag bearer for India at the 2016 Rio Olympics?

Ans &
{1_34‘mﬂaﬁar

Abhinav Bindra
 , TS FEa
Saina Nehwal
X Trefr #fers
Sakshi Malik
@A iy
P.V. Sindhu

x

Question ID : 9864492270
Status : Answered
Chosen Option : 1

UV T 7 W it UT U1 1 =1 & FHIeT ST Hevell 87
The metal that can be cut with a knife is:

Question 1D : 9864493111
Status : Answered




Ans m
W 1

Sodium
> 2. :
Iron
- TegaETH
< 3 2
Aluminium

+

orer

X< 4
Copper

Chosen Option : 1

Q.18 ey e aifeear Rl & frw Telifos & & geata &1 o, fomer
g H ARG TS FEE & FY 3edis W & o ar?

Which is the political party started by Telugu film actor Chiranjeevi, who later merged it
with the Indian Naticnal Congress?

Ans w7 Ao ardt
Nava Nirman Party
2. T Az et
Andhra Pride Party
| o
| Telugu Desam Party

| T TeTH qréf
Praja Rajyam Party

x

*

v

Question ID : 9864492177
Status : Answered
Chosen Option : 4

Q.19
&frr 1 s, Wl Awe A F A O F R g @ 2

Fxcept Helium, all noble gases have how many electrons in the outermost shell?
Ans & 1. 4

v28

~ 36

~ 410

Question ID : 9864493514
Status : Answered
Chosen Option : 3

Q.20 sxafe args 7 &1 wEiea & 30 R o ¥ 11T F e BT 6

T 9ge AT § FT FEAET 87

The tendency of imdisturbed objects to stay at rest or to keep moving with the same
velocity is called ;

Ans aga’
Y S

inertia
> 2 HIT
momentuimn
X 3. 3 3"
energy
ol

force

~ 4

Question ID : 9864493619
Status : Answered
Chosen Option :1

Q.21 g9 2017 & si7g & ¢ e 3l Agean olews (@eeh) & w9 # e |

FHENR 7Igor T 32
Who took charge as the new Comptroller and Auditor General (CAG) of India in 20177
Ans

Question ID : 9864492295
Status : Answered

Chosen Option :1




?<1_3Taiw FAN =i
Achal Kumar Jyothi
WSAT FAR

ZIFGHUHI{unkH

5 faer i genr
Vivek Goenka

4_umﬂ3 A

Rajiv Mehrishi

x

x

v

Q.22 gy et #T 0T A e & e o 7 @ o 3 w1 3ot fear
Farg?
Which of the following gases is used to prevent food material from getting cxidised?

Ans A=

Question ID : 9864493209
Status : Answered
Chosen Option : 3

1.

Oxygen
Ferd
Chlorine

ATEE Tt

W s
Nitrogen

GIESEC]

Hydrogen

&2

X 4

Q.23 fy 25ecx - tan®x = 5 3R 0° = x < 90° & & x T AT T FE?| Question ID : 9864492837

If 2sec’x — tan’x = Sand 0° < x < 90° thenx =2 Status : Not Answered
Ans  of 1. 60" Chosen Option : -
& 2.90° k
& 3.30°
75 4. 450
Q.24 m=aET Aol H LG koo gt El-ﬁfl | Question ID : 9864494097

Status : Answered
Chosen Option : 1

6, 12, 20, 32, 42, 56, 72
Select the WRONG number from the given series.

6, 12, 20, 32, 42, 56, 72
Ans ._" 1. 32

X 220

X372

X 456

Q.25 F=faf@a F ¥ i O TF WEr & &9 7 o 9o oo S w2

Question ID : 9864493296
Which one of the following derives nutrition from plants as a parasite?

Status : Answered
Chosen Option : 4

Ans




x1_mﬂm$rmsﬂﬂ’r

Malaria Parasite

> 2 E'I;

Lice

ST TH (Bryophyllum)
Bryophyllum

, hHFYCT (Cuscuta)

~ 3

v
Cuscuta

Q.26 3w & fow & IgER, I Hie (|) e § R @elag 7w (V) T @
Foar

According to Ohm’s law, if current (T) increases and potential difference (V) remains
constant. then:

Ans - gfeRrer sREfda @ &
resistance unchanged
v, T FH & A §
resistance decreases
, TstaieR e sar 7
potential difference decreases

¢ , TR FEeT &

resistance increases

x

Question ID : 9864493606
Status : Answered
Chosen Option : 4

Q27 [z [srerdem |Rifea | aREa | i@
@/ |9 F1 %

A 200 150 50 -
B - 200 100 66.6
(s 150 50 100 -
D 120 - 90 25
for T seE F AR W, oY ¢ F BT &nt @ g ¥ (o
EAA T qUitfha o)
City | Population | Literate | Illiterate | % of
literates
A 200 150 50 =
B E 200 100 66.6
2 150 50 100 =
D 120 B 80 25
Based on the given data, the percentage of literates in City C is (round to one
decimal).
Ans X 1.33.4
v 2333
K 3345
<4323

Question ID : 9864493954
Status : Answered
Chosen Option : 2

Q.28

Question ID : 9864493941
Status : Answered
Chosen Option : 3




[l —— s —e Adhlelic

)

A — | e Drespdined

Boys - ®15% Girls - @547 Athletic - R&=ET Disciplined - arfenfaa

7T BT 77 &7 T #, 39 wemst = AE G £ = 5w St &
zate § S sepanfee w82

[ ——= pows 3 ——s  Athletic

N e il 1 — Driswcn palinecd

In the above Venn diagram, what is the sum of the numbers that reprezent all those
athletes who are not disciplined?

Ans & 1. 11
X213
v 316
K427
29 —ag- ia&jg;l a?“u Scaed m % | Question ID : 9864493455

reproduces by multiple fission.

Ans m
o . ;

Plasmodium

Rhizopus

Status : Not Answered
Chosen Option : -

Q.30 = 150 ey w0 31 54 fEaletex 9 v & R & o ge R
TS 1 42 Teher # 9T T T § O e f e 4w

A 150 m long train, travelling at 54 kmv/h, crosses a platform in 42 seconds. What is the
length of the platform?

Ans x ;. 540 HET
540 m

, 630 HIT
630 m

| 480 I
480 m

*

v

Question ID : 9864492830
Status : Answered
Chosen Option : 3




, 780 HieT
780 m

x

Q.31

Ans

eRT w7 & ¥ B g & 997 &3

€ ¥ h A

Select the odd character out of the following series.

€ ¥ 5 A

viA
X2y
X g
x4

Question ID : 9864494305
Status : Answered
Chosen Option :1

Q.32

Ans

TS ST Fehver 3 FoHTS A T ITN S < 4 § | 3 T T I aTg ST 3G H
FFIE 1+ 9 @Y S| TAATH A Fehver v 30y vy ad

Present ages of Sai and Satheesh are in the ratio of 35 : 4 respectively. Three years hence,
the ratio of their ages will become 11 : 9 respectively. What is Satheesh's present age in
years?

X121
W 2 24
X 322
X 423

Question ID : 9864492573
Status : Answered
Chosen Option : 2

Q.33

Ans

SISeT &l A0 §T &

The molecular formula of Propane is:
X 1. C,Hg
% 2. Ty
o 3 C;Hg
X 4 CH,

Question ID : 9864493152
Status : Answered
Chosen Option : 3

Q.34

Ans

fTrafef@a & & i @ § & &g & dAsg g &2

‘Which of the following is present in the centre of a flower?

+

v 5T

Carpel

Question ID : 9864493358
Status : Answered
Chosen Option : 1

Q.35

Question ID : 9864493753
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People : Person

Choose the correct analogous word pair from the given alternatives.

People : Person

Ans - 1. Radius : Radii
# 2 Cacti ; Cactus
v s Fungus : Fungi
# 4 Nucleus : Nuclei

Status : Answered

Chosen Option

14

Q.36 &r 7% 3Pl Fr F A F BT 2wRIE FgFoA Helr fEnt A e
gl

The minimum number of straight lines required to construet the given figure is

Ans of 111
X212
X309
X 410

Question ID

:9864493924

Status : Not Answered

Chosen Option

Q.37 FF W Tl IR TIEHe § He-UTuIas 3R Alfels, AREY e |

&7 AT &ET

Name the Indian entrepreneur, co-founder and owner of India’s low cost airline SpiceJet.

Ane 5 , Peee SR, Ir=T
Captain G.R. Gopinath
x o #oean
Vijay Mallya
N {d TIeT
Ratan Tata
| ¥ g

Ajay Singh

x

v

Question ID
Status
Chosen Option

19864492364
:Answered
4

Q.38 3fg RRel ST & TooH Ue IEG F WHEHT 38 25% @ W ad @ o |

5 F e Aem w4r ur?
If a person bought an item for T 60 and sold it at a profit of 25%, the selling price of the

Question ID :

Status

9864492788

:Answered

itom would be: Chosen Option : 3
Ans x 1. %’ 84
K23T72
v3T75
&K 4Z80
.39 i ;
3 SIS % Te 3] A foetet A B Question ID : 9864493547
Status : Not Answered

How many atoms are present in one molecule of Ozone?

Chosen Option :




Ans ?{1_ 4
X 21
X3 2
W43

Q.40 3=fiew oo ¥ AT TA B 99 T U AEOE FT HHN O S |

9 & gU oF & e (frustum) ST E) e (frustum) @ Al @ 5
T AR 2 WERTET ¥, IX wEewE f Fn 7 wenieT &) i T
A6 T R

A shuttle cock used for playing badminton has the shape of a frustum of a cone mounted
on a hemisphere. The external diameters of the frustum are Sem and Zem, the height of the
entire shuttle cock is 7em. Find the external surface area,

Ans 1snaa‘rﬁam

v
80 cm®

x, 7338 T FEHRT
73.38 cm®

x5 7429 T FEHRET
74.29 cm?®

x , 74.30 T e
74.30 cm?

Question ID

19864492591

Status : Not Answered

Chosen Option

QN o<t o= et gt #1 o Jem 22
‘What is the mean of the first five Triangular Numbers?
Ans &1 8
V27
<36
K45

Question ID
Status

Chosen Option :

19864492557
:Not Answered

Q2 GuafiTas Wi s W Ra rFmadr mafT &7
g & 10 39 Sy al e A aoEe 37w i

Krish is 5 years vounger than Parthiv. Eight years ago three times the age of Krish was 10
mote than twice the age of Parthiv. Find Krish's present age.

Ans
v+ 2899

28 years
299
32 years
33 9%
33 years

30 99

30 years

X 2.

< 3.

5 4

Question ID
Status
Chosen Option

19864492752
:Answered
13

Q.43 , U HEAHR 87 9, S 39 9 W TS 9 FeT FagR dnd w7
FmTor Brar = am
. 2 Muslim saint, lived at the place where Fatehpur Sikri was built.

Ans x ;T el
Baba Fakruddin
fesmEe itforar
2.
Nizamuddin Auliya

x

Question ID :

9864492113

Status : Answered

Chosen Option :

2




. AUTET =EET agear
Nasiruddin Chiragh Dehlavi

, g Hell® f=edr
Sheikh Salim Chisti

x

v

Q.44 4.37 2eT W% & FAA W B # g i 9 # wf & 9= FFaw g7

Ans

FIUT FAI?
What will be the acute angle between the hour-hand and the mimrte-hand at 4:37 p.m.7

< 1.18.5°
v 2. 83 5°
/< 3.18°
& 4 B.5°

Question ID
Status

Chosen Option :

19864492773
:Answered

2

Q.45 1, Arey g WoFE F M F TY REENT A9 e 0.5 e a== fiw fr

Ans

o= F= fraer BE

The kinetic energy of a ball weighing 0.5 kg moving with a velacity of L m/s will be:

16 Jot
b ™

16 J

L el
o 2 ™

LJ

83

< 3 ™
aJ

12 &l
~ 4 =
12J

Question ID
Status

Chosen Option :

19864493460
:Not Answered

Q46 fr T W R W it AT I e F e A FRr = & a |

Ans

FF T FUF T §

HolferT F SRR @HT 9 e 81 4 Z 2T F e e i T
HelaT FE AR

FYA:
1_aﬁziﬂ%z%smw§wamﬁq§wmm
2. g9 F 11 &= 0% 34 ¢ 3T 3 &7 U9 F 12 99 g

Consider the given question and decide which of the following statements is sufficient to
answer the guestion.

The trains are very punctual in Malaysia. For a maximum of how long should Mr. Z wait
for the train?

Statements:

1. M. Z had reached the railways station at 10 a.m.
2. There is a train at 11 a. m. and the next train is at 12 p. m.

J1_a’|a"r$95r1 3kt 2 wareT &

- Both statement 1 and 2 are sufficient.

> 2
AT FUF 1 TATT § a3 HU 2 39AT gl

Statement 1 alone is sufficient while statement 2 alone is insufficient.

x&m?-fram;m oo g Im 2
Either statement 1 or 2 is sufficient.
X 4
IO FUT 2 TITT § FAaTH 3heT 1 FUT JIAT ¢

Statement 2 alone is sufficient while 1 alone is insufficient.

Question ID
Status
Chosen Option

19864493653
:Answered
1




Q.47 oot HfSw & Fi7 @ frerd RT 1T T F1 FHIT ITET R F

FU;
i e o1 @ ¥ 6 gemar & & e gae € el = & 9 wifst
Jor 3T AT T & A 7 Fo T E

e
1. Tl Sant @ 95 o s o)
2. T st F et & S & R s s et

Decide which of the conclusions logically follow(s) from the information given in the
statement.

Statements

Poverty is increasing because politicians don’t understand poverty nor do they know
anything about the problems faced by the poor.

Conclusions:

1. All politicians should be replaced.
2. All politicians should be asked to live in poor conditions,

Ans K"1.1 3R 2 = ET HS

Both 1 and 2 follow
- o TSHY 2 ITHUT I &
2.

Only conclusion 2 follows
& a1 3 T & 2 T T

Neither 1 nor 2 follows

- A TSHY 1 ITHOT I &
4.

Only conclusion 1 follows

v 4

Question ID : 9864493810
Status : Answered
Chosen Option : 2

Q48 RATATEe F & Fi & 837 & 91 = & (o0 3oaad qaaT

‘Which of the following regions has the highest potential for wind energy?
Ans

x ;. T % T8
The Deccan Plateau
| T & He
Gangetic planes
7 o TR
Western Ghats
- I RER]

The Himalayas

x

Question ID : 9864493145
Status : Answered
Chosen Option : 3

Q49 R v el & FAfE S & IR W IS MG IeAl

miﬁ?l':gﬂm::ageﬁt:

Select the missing word from the given related pair of words.

Ancient : Old :: Bedspread :

Ans
1. o
Berth

gfesar

Pillow

> 2.

Question ID : 9864494239
Status : Answered
Chosen Option : 3




{S.W

Comforter
BT
Couch

X a4

Q.50

Ty e 1 qeitas gemma 12 sk St w4 B wlm I

1 3 (mole) F [T Jr= 1 I =9 T Fu= wer &2

Atomic mass of Carbon 1 12 and that of Helium 1s 4. State which of the following
statements 1s true for 1 mole of each of the elements?

Question ID : 9864493408
Status : Not Answered
Chosen Option : ==

Ans X 1.
&iferE 1 1 A (mole) #, T F 1 AW (mole) ¥ 3 IET 3TEE WA
g
1 mole of Helium will contain 3 times more atoms than 1 mole of Carbon.
f 2.
FEd & 1 A (mole) 3, e F 1 AT (mole) 7 Flog R=w] H TE=T
AT gt
1 mole of Carbon will contain the same number of atoms as present in 1 mole of Helium.
&K 3
FIA4 & 1 Hiel (mole) #, 2o ¥ 1 #Hiel (mole) & AT 1 Fen waw
(GHER-L]
1 mole of Carbon will contam one-third the mamber of atome present in 1 mole of Halium.
X 4.
FIE B A 1 (mole) F, §FmE F 1 A (mole) ¥ 3 I 31T W
Bl
1 mole of Carbon will contain 3 times more atems than 1 mole of Helium.
Q.51 9RE A HOT FARY (FFE T W REER w1 & fAw 2017 F & i _
$= o Question ID : 9864492418
o £ Status : Answered
Which major bank has launched the ‘Unnati Credit Card® in 2017 to enhance eradit X
inclusion in India? Chosen Option :1
Ans
v+ Ty &30S
SBI
> 2. SERRCL
Axis Bank
x 5 TAELTHA. Cca
HDFC Bank
o TS .35 1.3,
ICICI Bank
Q.52 woif arer frw oty F oftaat & mfEa & o & Fhat F?
> i Question ID : 9864493317
In which of the flowering planis are buds produced in the notches along the leaf margin?
A Status : Not Answered
ne x mm Chosen Option : -
1.
Bryophyta
> 2 hell
Banana
9ol &hl Thel
K32 s
Rose
f 4.
Bryophyllum
Q.53

Question ID : 9864494147




ferfofta & 4, waftes (7) & Jfe fww v saer, & s Status : Answered
FOeuA ¥ T o Reet # ¥ aEuieus W # a9 #1) Chosen Option : 3

A, BC, DEF, GHIJ, ?

In the following series, one term is missing as shown by the question mark (7). Select the
missing term from the given options.

A, BC, DEF, GHIJ, ?

Ans 1. XYZA
< 2 PQRS
W 3 KLMNO
X 4 TUVW
Q.54 Tfe cosecd + cotd = 2 Eﬂ' ar cotd =7 Question ID : 9864493038

Status : Not Answered

Ifcosec8 + cotf = 2,thencotf =7
Ans x10

Chosen Option : -

X205
X1
v 4 0.75

Q.ssﬁmmwmmgwﬁﬁhmﬁﬁmmm#;ﬁ%’

- T & Ptk Pl Y ¥ Question ID : 9864493756
Status : Answered

Fu Chosen Option : 2

Fo afFmar = #
wft sl gfewe B 2

e
1. Tl sfdaar giemm &)
2. @l sAarr sfEEar 8

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
Some actors ave businessmen.

All businessmen are intelligent.

Conclusions:
1. All actors are intelligent.

2. All businessmen are actors.

e . Faor ToISHY 2 HTEIOT HIAT &
1.
Only conclusion 2 follows
W2

Far 13 T & 2 ITEOT FAT B

Neither 1 nor 2 follows

FaeT TASHY 1 HTEIOT HIAT &
Only conclusion 1 follows

o, 1 3T 2 QT IHTEOT A §
Both 1 and 2 follow

< 3.

Q.56
Question ID : 9864493966

Status : Answered
Chosen Option :1




Ans

T aT T A wAEES w3 R @A F sE 3o & ¥ v RehEm
wual # ¥ Fi e B

gipfas dEae A, B €, D 3 E & & favy swd sa-d 2

CLG

1. A, B, C, D 3t E wipfas e #
2. B 38w HWET §l

Consider the given question and decide which of the following statements is sufficient to
answer the question.

Which of the natural numbers A, B, C, D and E are odd numbers?

Statements:

1. A B, C, Dand E are natural numbers.
2. B is a prime number.

1.
T T TR & IoW 2 F BT 2 wken qUT ¥ Sty 1 3%keT w2iea A
gl

2 alone is sufficient while 1 alone is not sufficient {0 answer the given question.
> 2.
T #IT wod 7 3eck 3 & w1 3k 2 &t wreg &

Both 1 and 2 are sufficient to answer the given question.
&< 3.
T 7T o9 I & F T 1 3gen qae ¥, SEiF 2 aneken 9AT e
&l
1 alone is sufficient while 2 alone is not sufficient to answer the given guestion.
W 4
Resw g # seeR S & Roar ar 1 sl ar & 2 gaem &

Neither 1 nor 2 is sufficient to answer the given question.

Q.57

Ans

# RU a7 Reedt & ¥ Hafda oeg & F99T S

qfieTr : HFerdr ;A

Select the related word from the given alternatives:

Examination : Success :: Matches :

ol
Prepare
-rie

- Attempt
fhane
 Cricket

IE=r
Victory

1.

~ 3

W 4

Question ID : 9864493639
Status : Answered
Chosen Option : 4

Q.58

Ans

900 #reT F v 2ty & Fher fR A 270 Fer § A TE P340 Frex ¥ WlEHE
T £ 5 2i5 F fome T = e Few & e sem

In a 900 metres race, Sathish beats Kiran by 270 metres and Rahul by 340 metres. By how
many metres does Kiran beal Rahul in the same race?

& 1.140
X 220
W 3100
X 470

Question ID : 9864492610
Status : Answered
Chosen Option : 4




Q59 g foveer ey AT 3 & ot & 397 & v g i A wAY

Find the fraction which is as much greater than% as it is less than 2:

Ans - 58
1. —
X

V22

84

K2

85

Kl

59

Question ID : 9864492542
Status : Not Answered
Chosen Option : ==

Q.60 et & 78 wE WFHT F FAA UF AN TIAT FE A BHE aAST| SH e |

¥ 7o a i Tg

&) |©
CH DA
Ooloe| @

7

Use each of the below figures only once and form three groups. The three groups so

formed are:

&]9[©
CH® A
22| @
Ans X1.(1,5,9), ( ), (4,7,8)
*2(1,3,8), (2,9,6), (4,7,9)
v 3(1,3,9), ( ), (4,7,8)
#4(1,3,6), (2,59,9), (4,7,8)

Question ID : 9864493751
Status : Not Answered
Chosen Option : -

Q.61 & ar& sjmer #, o 8 0 ¥ S e A S A e ¥ e A A

St ETfEeh v it Hew ¥ o Bl 8 f

563248889266588343

In the given series, how many 8s are there that are not divisible by the number to its left
but completely divisible by the number to its right.

563243880266588343
Ans X' 1. 4
K22
v
X43

Question ID : 9864494074
Status : Answered
Chosen Option : 3

Q.62 grefer fr T FTE THT Bwes amer F, Wew # ¥ B9 w5 e =g

g 87
Which is the form of energy that does NOT occur while riding a bicycle?

e o, TS B
Heat energy

2. Eﬁ-

Kinetic energy

x

Question ID : 9864493041
Status : Answered
Chosen Option : 3




S_Tmmﬁa:ﬁfr

W
Chemical energy
it Fer
X a.
Mechanical energy

-7 ki Sy dugy o s ion ID : 986449368
Reenaliet gerer & 3R f5T @13 3T 73 Ser ¥ 3R 6 Fheieiier e 31 9F Question ID : 7
=feg 3w o s Ry a R Rar A 2 Status : Answered

A man walks 10 kms towards east, then takes a right turn and walks 8 km and again takes Chosen Option : 4
a left and walks 6 km. In which direction is the man with respect to his starting position?

", T aiREs
South west

, 3ccR afeaH
North west

3R I

North east
gfeyur g

v &3 b
South east

*

*

Q.64 10 yomst F ey fFe avg & R HpT T440 ol T370 H IEg F AT
o freer wfea #r arfer g

The selling price of an item inclusive of a 10% profit was T 440. What would be the .
percentage loss if the item was sold for ¥ 3707 Chosen Option :1

Question ID : 9864492748
Status : Answered

Ans  of 1.7.5
X 28
X 3625
X 484

Q.65 'frz® ¥ UF 2.5 Hier war o § S AR FHY F dgaw alr & awier ¥y Question D : 9864492122
Irs—mm mﬁ.m amﬁ- : uestion .

‘Freedom Trail’ is a 2.5 mile long passage that offers a rich insight into the American Status : Not Answered

Revolution. In which US c¢ity would you find this famous and historic trail? Chosen Option : -

An m
) W

Boston
ATEFE
Memphis
&K 3 CEER
Denver

FATacHheE

Connecticut

X 2

X a.

Q.66
o= g+ Question ID : 9864492879

Status : Not Answered
Chosen Option : -

Il
-

(- 9{19- (- 2) x (- 8)}

Solve the following:

CH9-(2) x (-8)) =7




Ans X 1.12

X 2 140
X 3140
V12

Q.67 v mma AT, (pH) AE3 F ST AT, (pH) A SRl 6 gl FTaT g da HY |

T 1 Wi Frea 2 S i

The pH of a sofution is 3. When its pH changes to 6, then H*ion concentration:

Ans
x.1_2almaara1'cﬁ%|

increases 2 times

2_Ehﬂa;maaa1ﬁr%i

increases three times
1000 I[AT AT

x

v

decreases 1000 times
, 100 T[T T AT

decreases 100 times

*

Question ID : 9864493070
Status : Not Answered
Chosen Option : -

%8 ATl ad # | ieT €T HEAT Ueh qUT 397 82

Which of the following numbers is a perfect square?
Ans  of 1. 441
< 2192
& 3.333
i 4327

Question ID : 9864492500
Status : Answered
Chosen Option : 1

Q.69 exfiygara¥ 333 ms ! VT W A FIAT &: $HIF, | FFSH, 333 Wer Hrglr

[CR:EaCiniter ko de iy

Sound travels at a speed of 333 ms™" in the air; thus. in 1 5. a distance 0£ 333 m is
travelled by:

Ans
x o W
source
7> aenfer

disturbance
hUT

3.
particles

et

receiver

< 4

Question ID : 9864493083
Status : Not Answered
Chosen Option : ==

Q.70 &g & T175 # &9 & T& ¥T WG Weg [ Tl 1 WA H & foe |

3 59 T 161 # a9 femm & = fhew whmw #r af g

Deepti bought a set of cups for T 175, but then had to sell it later to clear old stocks for T
161, What is the percentage of loss that she had to incur?

Question ID : 9864492688
Status : Answered
Chosen Option : 2

Ans & 1. 16
V28
X337
X 414

Q.71

Question ID : 9864494055
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Problem Figure

Y/f

NE

Select the option that fits in the blank space in the given Problem Figure.

Problem Figure

~N T

N

Ans

5 3.

PNICAPN

Status : Not Answered
Chosen Option : -

Q.72 N ﬂﬁ
n qqd | HeA | gES | W

2001| 1,500 | T200 | ¥500 | T100
2002 | ¥ 2,600 | T300 | T600 | T200
2003 | ¥3,200 | ¥150 | T700 | T 150
2004 | ¥4,100 | T250 | ¥650 | T125
2005| ¥ 5,000 | T200 | T 800 | T150
2006 | ¥5,200 | ¥100 | ¥750 | ¥ 175

gfar ¥ sitgg 399, a¥ 2001 - 2006 ¥ = fFaar 2

Items of Expenditure

Salary | Food | Medicine | Tax

2001 | ¥ 1,500 | T200| T 500 T 100
2002 | T2,600 | T300| T 600 < 200
2003 |¥3200 |3 150| T 700 T 150
2004 | 4,100 | T250| T 650 T 125
2005 | 5,000 | T200| T 800 T 150
2006 | ¥5200|%100| T 750 2175

Year

The average salary per year during period 2001 - 2006 is:
Ans < 1. 3,400
< 23,800
« 3.3,500

Question ID : 9864493676
Status : Answered
Chosen Option : 4




v 4. 3,600

Q.73

Ans

A B & R T & e 3uges R & 9wa o & Reedt F 8 R

TTHEE
SRS
] 2

Answer Figures

Bl

A B C D

HATA =7 - Problem Figure
oo & - Answer Figures
Select the Answer Figure that fits in the blank space in the given Problem Figure.

xR
SRS
=K

Answer Figures

Bl ||

A B C D
X 1C
X 2D
VB
XA

Question ID : 9864494133
Status : Not Answered

Chosen Option : -

Q.74 & =1 R W fEw Ft W v W & g wuont £ 3 S @

Ans

Haftees g

B IESH

X, Y F gog I ¥ B ofy o weue 7 9o e Trgan T ¥ s
HTENTETH T TR

TR

LN

1. FEHTETH 3o waU FET Wo T D
2. X, Y g@wT & 7 "eng Fe

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
X advised Y that if he/she wants to study Management, he/she should join IIM.

Assumpftions:
1. IIM provides good Management education.
2. X listens to the advice given by Y.

1 3k 2 2 qEuReTe SRR ¥

Both 1 and 2 are implicit.

W

Question ID : 9864494070
Status : Not Answered
Chosen Option : -




Z_ErH’HaﬁT;r?rzair-lﬁrﬁ?r%l

Neither 1 nor 2 is implicit.

| S JEUROT 2 efted 2
Only assumption 2 is implicit.

| e T 1 st 3

Only assumption 1 is implicit.

x

x

x

Q.75 b b1 3ecR-3TFfT (Answer Figure) &1 98 99T 3T (Problem Figure) &7/
T T wiatE 22

Question ID : 9864494057
Status : Not Answered

Chosen Option : -

Problem Figure

Answer Figures
T {
49 F I
>, v \
A B L5 D

‘Which of the Answer Figures is the correct water image of the given Problem Figure?

Problem Figure

2 9 EE






